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fun fast Reverse (t.int list) : int list=

reu Two Pies ( l
, CD

Wfaotreu ( n) = www.u-wop.iescn#nris0k)
fun reu.TW ◦ Piles(client list, r : int list) : int list=
Case L of

☐⇒ r
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length ofl



* in input*Use extra memory
"
to

see time



|S◦rtiy]
[4,113,2] ˢ[1,2, 3,4]
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AsortediS :

① All numbers in the list one
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equivalent A list is sorted iff
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Specification: For all lists &
,(*P¥e:_ sort / l) isa *)

permutation of l
↳ all some numbers ,

possibly in a diffhfter
fun isortll : int list) : int list =
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sort [4,113,2] want [1,2/3,4]

↑puᵗ4↓ attire
back

sort [1. 3,2] should be [ i. 2,3]
↓ ↑:÷¥

Sort [3,2] should be [2,3]
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fun I sort (l : int list) : int list =
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ten insert ( ✗ ant,t.in/-list):intlist=*case-0lof-
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• insert (1) 6.3.43) constant

• Insert/ 5
, G. 3,47) time

proportional
to length0(n) •+ list



isort ( [1.73.4]) fast 04)
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